TRANSFORMATIONS

PREVIOUS EAMCET BITS

1. —X o tan(x-y) tany= [EAMCET 2009]
cos(x—2y)
1) 1+A 2) 1-% 3) A 2) A
1-A 1+A 1+A 1-A
Ans: 2
coS(X—2
Sol. M :1, using component to and dividendo:
COS X A

tan(x—y)tany:ﬁ
+

2. cos Acos2ACos4A......c0s2" A = [EAMCET 2009]
1) sm? A 2) 2 s_|n2 A 3) 2_ sin A a) S|.nA
2"sin A sin A sin2"A 2"sin2"A
Ans: 1
Sol. _1 [2sin Acos Acos2Acos4A....]
2sin A
sin(2”A)
cos| (2"*A) |=——2
[( )} 2"sin A
3. If o+ p+y=26, then cos6+cos(0—a)+cos(0—P)+cos(6—y)= [EAMCET 2008]
1) 4singcosEsin1 2) 4cosgcosEcosl
2 2 2 2 2 2
T o
3) 4sin—sin=sin— 4) 4sinasinsin
) 5 sinzsin ) Bsiny
Ans: 2

Sol. cos@+cos(6—o)+cos(6—P)+cos(6—y)
=Zcos(ze_mjcos(gj+ZCOS(ZG_B_YJCOSB_y
2 2 2

2
= 2¢0s B+y cos| JrZCosgcosM
2 2 2 2

B v

:2cosE cosB”+cosB_y :4cosgcos—cos—
2 2 2 2 2 2

4,  sinA+sinB= \/§(cos B—cosA)=sin3A+sin3B = [EAMCET 2007]
1)0 2) 2 3)1 4)-1
Ans: 1

Sol. Given sinA+sinB=+/3(cosB—cosA)




Transformation

Sol.

Sol.

Sol.

Sol.

Sol.

[?]cosAﬁin A(%) = CO0S B(?j —sin B(%)
= cos(A—gj = cos[BJrgj

A=-B=sin3A+sin3B=0

A+C:ZB:>—C(_)SC_C(_)SA
sinA-sinC
1) cotB 2) cot2B 3) tan 2B
Ans: 4
A+C:B
2
ZsinAJrCsinA_C
cosC—cosA 2 2
nA—sinC ,__A+C__ A-c B
sinA-sinC 2c0S sin .
A+B=C=cos?A+cos’B+cos’C—2cosAcosBcosC =
n1 2) 2 3)0
Ans: 1
A+B=C

cos? A+cos’ B+cos’ C=1+cos(A+B)cos(A—B)+cos’C

=1+cosC[ cos(A-B)+cos(A+B) ]

=1+cos(2cosAcosB)
cos®> A +cos®*B+cos? C—2cosAcosBcosC =1

In AABC , COS(W]+ cos(%) =

-1 2)0 3)1
Ans: 2

(n+C+2AJ (A—Bj

0S| ———— |+cos| ——

2 2
2n-B+A A-B

= CO0S T +CO0S T =0

cosa,sin(B—y)+cosp.sin(y—o)+cosy.sin(a—B)=........

1)0 2)1/2 3)1
Ans: 1

scosasin(f-vy)

=3 coso(sinBcosy—cospsiny)=0
sin47°—sin 25°+sin61°—sinl11° =
1) cos 7° 2)sin7°

Ans: 1
sin47°—sin25°+sin61°—sin11°

3)2cos7°

[EAMCET 2005]
4) tan B

[EAMCET 2005]
4)3

[EAMCET 2004]
4)2

[EAMCET 2003]

4) 4cosacosBcosy

[EAMCET 2003]
4)2sin7°




Transformation

10.

Sol.

11.

Sol.

12.

Sol.

13.

Sol.

=sin47°+sin 61°—(sin 25°+sin11°)
=2sin54°cos 7°—2sin18°cos 7°

= 2cos?°(\£4+1—$J =C0os7°

If A+ B+ C=270° then cos2A + cos2B + cos2C + 4sinAsinBsinC = ....

1)0 2)1 3)2 4)3
Ans: 2
C0S2A +c0s2B +c0s2C =1-4sin AsinBsinC
(or) PutA=B=C=90°
c0s® 76° +€0s?16° — c0s 76°c0s16° =
1 1
1) = 2)0 3) —— 4
) 5 ) ) 1 )
Ans: 4
cos’ 76°+1-sin’ 16°—%(Zcos 76°c0s16°)

Nlw

=1+cos(76°+16°)cos(76°—1 (cos 92°+0s16°)

:1+1c0392°—1c0592°—1 :§
2 2 4 4

ZCOS ( (2k-1) j
12
1 1

1o ey 3)-5 4)
Ans: 4

3
4

N | w

, 3T , 5T
cos® —+COS —+C0S™ —
12 12 12

1+c0s30° +1+ c0s90° +1+ cos150° _ 3

2 2 2 2
If cosecezp q ,then cot( 6]

1) Jg 2) f 3) Jpq 4) pq

Ans: 2
_1 :p+q:>1+s!n9:E
sin6 p-gq 1-sin6 ¢

1-cos| F+0 2sin® E+9
. \2 ) _\4 2)
n. 0
4 2

1+ cos(ngej 2COSZ[

= P
q

[EAMCET 2003]

[EAMCET 2002]

[EAMCET 2002]

[EAMCET 2001]




Transformation

14.

Sol.

15.

Sol.

" cot(z+9j: P
4 2 p

If sino.+sinp =a,cosa +cosp =b, then sin(a+p)=

1) ab 2)a+b 3) 2

Ans: 4
sina+sinB=a;cosa+cosf=>h

Zsinia—chos(a—_ﬁj = a;Zcos(aJrB)cos(a_B

tan(o”rﬁj:3
2 )b

o+p
2tan| ———
sin(a+p)= ( 2 j _ 2
1+tan2(a+Bj a’+b’
2
cos(6, -0
If tan 0, = kcot©,,then €0s(6,-6,) _
cos(6,-6,)
1) 1+k 2) 1-k 3) k+1
1-k 1+k k-1
Ans: 1
cos(6,-0,) cos6, cos@, +sind,sin,
cos(6,+6,) cos6,cosh,—sin6,sin6,
:>1+taneltan62 _1+k
1-tanO, tan6, 1-Kk
Tr 3 3

a?—b?

[EAMCET 2000]

2ab

4) 227
) a’+b?

[EAMCET 2000]




